
















Q.: Two positions of dice are shown. What will appear on the 
opposite to the face containing 4? पासा की दो स्थितियाां तदखाई गई

है िो ज्ञाि कीतिएकी 4 के तिपरीि सिह परक्या होगा?
(A) 3 (B) 2
(C) 1 (D) 5
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Find the missing  :-

(A) 3 
(B) 2 
(C) 8 
(D) 64
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Find the missing  :-

(A) 80
(B) 7 
(C) 10 
(D) 32
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5 3 125

10 4 10000

2 5 ?



Find the missing one  (?)

12 : 90 :: 16 : ?

(A) 121     

(B) 110

(C) 95         

(D) 111



Find the option which should replace (?)

4 : 5 :: 6 : ?

(A) 9

(B) 8 

(C) 5 
(D) 4



Find the option which should replace (?)

63 : 46  :: 18 : ?

(A) 100

(B) 121

(C) 144
(D) 169



Find the option which should replace (?)

AKP : 2561211 :: LNO : ?

(A) 196125144

(B) 225196144 

(C) 144225196 
(D) 415211962



Find the missing term(?)

0.15 : 0.0015 :: 1.03 : ?

(A) 10.30

(B) 0.103

(C) 0.0103
(D) 0.0130



Find the missing  :-

(A) 9 
(B) 13 
(C) 17 
(D) 15
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23 ? 12

6 13 7

138 117 84



Find the missing (?)

4597 : 83 :: 2976 : ?

1. 65
2. 24
3. 39
4. 60
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Find the option which should replace (?)

(A) 108

(B) 216

(C) 144
(D) 288

Kuldeep Mahendras Reasoning Daily Class 8:30 PM

7 6 5

2 3 3

98 ? 75



Find the missing one (?)

A. 17

B. 18

C. 16

D. 15

64 80 12

25 11 6

164 125 ?



Find the missing :-

7 , 2 = 59  :  5 , 3 = 28  :  9, 1 = 810  :  2, 1 = 13 :  5 ,4 =?

(A) 19
(B) 9
(C) 20
(D) 239 

Kuldeep Mahendras Reasoning Daily Class 8:30 PM



Find the option which should replace (?)

18 : 81 :: 16 : ?

(A) 72

(B) 76 

(C) 67 
(D) 77


